Sequence and Series - Class XI

Related Questions with Solutions

Questions

Quetion: 01

If the arithmetic progression whose common difference is non-zero, the sum of first 3n
terms is equal to the sum of next n terms. Then, the ratio of the sum of the first 2n
terms to the sum of next 2n terms is.
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Solutions

Solution: 01

Let ‘a’ be the first term and ‘d’ be the common difference of A.P.
"+ S3n = Sn[next]

= 53n + 53n = S3n + Sn[next]

= 253n = S4n

=2 X 3%1[23,—% (3n—1)d] = %[Qa—k (4n — 1)d]

= 2a =[1-n]d...[i] )
=P 2n —1
To find: =22 — _ y[2a+ (20— 1)d
Son(nexty 5 12(a+ (2n4+1—1)d) + (2n — 1)d]
_ 2a+(2n—1)d
"~ 2a+ (6n—1)d

1-n)+(2n—1 .
- ;1—7315671—1; { from (2)}
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Correct Options

Answer:01
Correct Options: B



